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1. Which of the following terms is a like term of4g ?

(i) g% (i) 8g3 (i) 59 (iv) (=3¢%) (v) 8

2. Which of the following terms is a like term of (=9k) ?

(i) (=94%) (i) (=343) (i) (=3k) (iv) 9k% (v) 2

3. Which of the following terms is a like term of 7 x ?

(i) 9 (i) (—8x%) (iii) (—x) (iv) (—5X3) (v) 8 x2

4. Which of the following terms can be added to5 ?

(i) (=3) (i) (=x%) (i) (=x) (v) (=9x%) (v) x3

5. Which of the following terms can be added to9g2 ?

(i) (=6g%) (i) (-=8g2) (i) (=643) (V) 7 (v) g

6. Which of the following terms can be subtracted from2 w3 ?
(i) 7w* (i) (=3w) (i) (=2w3) (iv) (=1) (v) (=3w?)
7. Which of the following terms can be subtracted from6x ?

(i) 8x* (i) 8 (iii) (—4X2) (iv) (=3x) (v) (—6X3)

8. Which of the following is a like term of(—4g) ?
(i) (=4g) (i) 3hi (iii) (=6g9h) (iv) (=9ghi) (v) (=7/)

9. Which of the following is a like term of(—6xy2) ?

(i) 10xy2 (i) 3x% (i) (=4y%) (iv) 9x%y (v) (=3xy)

10. Which of the following is a like term of 3/2 k2 /2 ?

() 72622 (i) (=2) (i) 87272 (iv) 6/ (v) (=7/2k)

11. Which of the following terms can be added to5rs?
(i) 4qgr (i) (=2q) (i) r (iv) (=6rs) (v) 2gs

12. Which of the following terms can be added to(—=5) ?

(i) (=7€%h (i) (—9def) (iii) 8dR (iv) 5df (v) 5
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14.

15.

16.

17.

18.

19.

20.

Which of the following terms can be subtracted from(—6¢) ?
(i) (—=6¢c) (i) (=2b) (i) 9 (iv) 3bcd (v) (—4cd)
Which of the following terms can be subtracted from 8j2/?

(i) 372kl (i) 6K2/ (i) 4K2/2 (iv) (=7/21) (v) (—2jk)

Which of the following is a like term of4o,o2 n?7?
(i) 4n202p2 (ii) 8nop (iii) 5n20p (iv) nozp2 (v) 9n20p2

Which of the following is a like term of (=2 bca) ?

(i) 4a%bc? (i) 4a%b?c (i) (=9ab%c?) (iv) (—4abc) (v) (=5a2b2c2)

Which of the following terms can be added to 50n2p2 ?

(i) (=3n%202p) (i) (=6n0%p?) (i) (=5n%0p?) (iv) (=7n%0p) (V) (—3nop)

Which of the following terms can be added to(—8ba2 C2) ?

(i) (—a2bc?) (i) 8ab2c? (i) (—8abc) (iv) (—6ab%c) (v) 2abc?

Which of the following terms can be subtracted from(—902pn) ?

(i) (=2n20p) (ii) n2o0p? (i) 3n0%p? (iv) 7no’p (v) 7n%o%p
27

Which of the following terms can be subtracted from 8n2om

(i) 6mno? (i) 3mno (i) 9mn20? (iv) (=6m?n0) (v) 9m?no



Assignment Key

1) (iii) 2) (iii) 3) (iii) 4) (i) 5) (ii) 6) (iii)
7) (iv) 8) (i) 9) (i) 10) (i) 11) (iv) 12) (v)
13) (i) 14) (iv) 15) (v) 16) (iv) 17) (iii) 18) (i)
19) (iv) 20) (iv)
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